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If there 1s any variation in translated version, English version shall
be treated as final.

This is an objective type test in which each question comprises of four
responses <A), (B), (C) and (D). You are to select ONLY ONE
correct response and mark it on your OMR. In case you feel that there
are more than one correct response, mark the response which you
consider the best. In any case choose ONLY ONE response for each
question. Your total marks will depend on the number of correct
responses marked by you in the OMR answer sheet.
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Nanyatha is related to —
(A) Online Ietter box painting

B e
< (C) A software for letter Clearance from
_letter boxes

(D) Rural network device

Expand “MPLS"
(A) Multi- Protocol Label Swutchlng

<
ultr protec ing
(C) Multicolor Photocopier Language
System

D) Mozilla Platform Lynax System

Match the following

1. CSI- Core System Integrator
2 FSI- Financial System Integrator
3. CBS- Core Banking System
4. USP- Universal Service Provider

(A) 1 & 2 are correct

incorrect
< (C) All are correct
one are correct
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5 ["MPLS" & DR00c0d

) mb S’ SIS
(B)Eso LS &5 Bg0500
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1. CSI- Core System Integra
2. FSI- Financial System | rater
3. CBS- Core Banking Syste

4. USP- Universal S vider

(A) 1 & 2 20 oD
(B) 3 & 4 %0

Match the following and find correct one

1. SIFY- Network provider
2. AGS- Cash management
3. INFOSYS- Software developer

4. BSNL- NSP 2

(A) 1,2&3 are not correct
(B) 2 are not correct

(C) t

D) 1,2 and 3 are correct

£\

- 5'55 ;’wéaéoes
NFOSYS — ;3".:;3 36 D6
. BSNL — NSP 2

(A) 1,2&3 %0 9003 5°:
AB) 2 296 20050 SO

(C)2& 4% %)
(D) 1,2 3000k 3 %0 00

N\

Find the correct sequ ce‘of ow of
network-

(A Exchan@ - Switch — router-
(B ) Mod m‘ hange — Router- Switch-
Exc e- Router- Modem- Swi\

ch Exchange- Modem- Router- Switch-

/\

Find the correct match-

(A) Modem- team link

(B) Router- juniper
(C) Switch-
- D-Link

RS 96, PV O OB §B0HW (DYool
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7 | Expand “WPCTC" ’ WPCTC™ %5 Dgb0@0s
(A i Centre
([4B) Work Place Computer Training Centr (A) 5 s ——
urafion Control 1rdl (8) D6), B gotyy(eb BIh DO
Centre (C) D65 iy IS ot5'es Bk Pot:d
E:D) Worl?_ Poverty Control and Trade ) 368 ‘fl‘a% iy mE’ 4E & w305
ooperation — S So&
8 Speed post contains- 8 30_36. DY S <Dn @odd
(A) 11-digit alphan_umeric code (A) 11-e0030, esery Arg2o05 &
e 01 cot et e
(C) 11-cigit numer (C) 11- e0ge) 2005 EE
_diqit alphanumeric code =~ S
‘m i / . ( LD) 13- w9030 esery g5 §°§ > '
9 Compensation charges for speed post In 9 JH80 daky evorgave (loss and pilferage)
case of loss and pilferage is- DN0HA0eS* 3035 5 och 00384 T8
(A) . 500 & 3oy INE &5
(A) Rs 500 or double the speed post 3,236 e
charges whichever is less B) . 10000
(B) Triple the speed post charges or . 6)‘ "3‘5 S U‘Q"s’@ e Jor 6
Rs 10000, whichever is less ), D¥6
(C) Double the speed post charges or (C) 3o & @ben Jor . 1000/- © &s*
Rs 1000 whichever is high QEDI6
( ouble the speed post charges E s Beo Jor G, 10007°
“Rs 1000 whichever is less . >¥E
10 | Who can open an account? 1002 o B6SROH
(1) a single adult S SreRrc
(2) two adults only (Joint A or Joint B)
(3) a guardian on behalf of minor (2) 2t scuraien argd (oot A o
(4) a guardian on behalf of person of araoS B)
unsound mind (3) 20R6 gy, DoBLLHD
q 2, (D) Nonﬁlﬂ.&ove (A) 1 Srgo :B; 1,:)2 &3
' q(c) 1,2,@4 D) 2 AW S°Y)
11 | Which SB sch@aﬁ the highest | 11 | 306 SB )& &’ 333 wages ¢ St ?
interest rate?
B) RD
(B) RD (A) PPF (
4 (D) SCSS ([ETSSA e
12 funds are available in 12 | oOBER 8307 STRAro” & QS Doty
:Ae/lect st offices? DO
) SBI (B) HDFC (A) SBI (B) HDFC
(C) ICICI AOJUTT™ c)Icicl DO UTE
13 | Expand ‘ATM" —_— 13 [ *ATM" 2 dgosed ——

(A) Automated Token Machine
(B) Automated Technical Monitoring

(C) Au ology Machine
Automated Teller Machin

d

(A) oS DBE 580 WD
(B) w5 oBE B3) 86 3ok

- £ Os7y 0L 200
JD) 0956:063& 0395 QQ >

—_— W |
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For which kind of scheme customer can
pay premium/ deposit the money through
|PPB mobile banking application

(B) PLI
(€] PPF V1D
Read the following sentence and find

correct one- _
1. PMJJY has the premium of 330 Rs per

year .
2 PMJJY has the premium of RS 330 per

month
3 PMSBY has the premium of RS 12 per

year
4. PMSBY has the premium of RS 12 per
month

(A) Only 11is correct
(B) Only 3 is correct

1 and 3 are correct

14

15

16

ind correct s atement

(A) Tire | and Il are the feature of SB

scheme
(B) Tire |, Il and 1l are the feature of NPS
system
(C) There S
xTire | and Il are th

16

—"_755;55‘.) IPPB 286 erjodoh TREREY
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(A) SCSS (B) PLI
(CYPPF> (D) TD

300 TSR SO O 2900 TP HBodocs
1. PMJJY € &8s edoodoo dr. 330/~

2. PMJJY £ D00 ook 6. 330/~

3. PMSBY & &g pydoodo . 12/-

4. PMSBY £ doard oo 6. 12/-

(A) 1 gD 0 01O

Eouo@oﬁ)&‘):)

D) NPS B30 & 96 | &ndas» Il dobsen Sogds-]

86 |1, Il odain 1l e9:05 NPS 50’353 =

(C) NPS &° mrenth 86 2o e SO

5{32e))

17

Read out the basic features 0
banking system and find inco

(A) It has 4.5
as the provi
linkage

(2f Sweep i
(D)Rs.1 1

kind of n

ut facility is availaple
the maximum limit for this

18

g

Which one is correct?

1. Nominal roll- MS 12
2. Attendance register — MS 37

(A) Onl (B) Only 2
oth (D) None

19

Monthly time statement is related to form?

A) Form M- (B) Form M-82

(C) Form M-13 (D) Form M-8

IPPB 20089 6‘50%05 NP D 2020800 VOS5
D0 VLrnED BV,

(A) &3 4.5% =88 :ag.
(B) &3 SB aroe 2D DEDIODED SO
(C) 3355 25 2055 7365 HEOIPOH[D S

(D) & o & Doeodowd (10 HBD dr. WS VL

18

q)1 3793 (B) 2 27
(C) Bocr (D) D 5°D

308 *S” WO YOO 28
1. DS Be5-MS 12
2. 980Gy e26-MS 37

19

OO PDAOK DB DO 2080800 6o

(B) DoCo M-82
(D) rdo M-8

() 3o W52
6o M-13
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Match the department with its in charge,
and choose right one.
(A) Mail Department-
(B) Sorting Department-
(C) Registration Department - Re
Sorting officer

Head Sorting officer

Sorting officer
gistration

C arcel Department - -Parcel Sorting)*

B
Pl onm

page 4 of 15
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\
22 | Fros Bo& eoaoé >3 Jrgo T

21 | UPU stands for-
(ﬁ)mversal Postal Unio
arakhand of Postal Union
(C) Universal public Union
(D) Uttar Pradesh Postal Union
22 | The fee for a bllnd literature packet to be
air is:-
( Air surcharge as applicable to le
~post
(B) Air surcharge as applicable to printed
paper
(C) Free of charge
(D) None of the above
23 | A station bundle is justified, when there

are more than-
SUR of the letter mail

mail
q 14UR of the letter m
e of the above

23

D) 6:'6)_!5‘ ‘8" wedss
R0

200006 D 20e080DD 5 UR es88ey
86 20008 L oeodeDD 10 UR e8sSy

) S65 D0oDeS © Doeodedd 14 U

£0) DD D T
24 | The abbreviation CTMO stands- 4 | CTMO & DBocsod
(A) Central transmit mail office (A) DogsS g%ﬁ ows esiaxn

(B) VoLTEE 2N, &5 waweS e5eoRD
d(C) sotryeond& emlées 52D

eobbeS er:bé‘es OO BoD

25 | Live mail surveyisc rieo in- 25 | 85 oS @35 20D DO

(A) Yearly \w (A) Ro36yoR3 C(B) R0

(C) half ye (D) once in two years (C) &5 duwD (D) Bocd VodSyTUD &8 >0
26 | Book of j on maintained in the 26 | 8 8D adFA0 D &0ArAeD Sdo

form-

(A)MS 4 @ (A) MS 4

(C) MS 14 DTS 44 (C) MS 14 (D) MS 44
27 RD/PPF/SSA 2roroH Rowoded O SB egd &

The waive off penalty /revived fee (Default
fee) in RD/PPF/SSA accounts was

contained in which of the followi
order- A

A) SB Order 14/20

(B) SB Order 12/2020
(C) SB Order 13/2020
(D) SB Order 11/2020

27

yaN

| ——

[Trelepln) ORI (Penalty)/Qd80g8cc0d
Gxwaw (default fee) dqo DBD SO

(A) D50 wgb 14/2020
(B) 25D 6gh 12/2020
(C) D50 esgb 1372020
(D) D5 egb 11/2020
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The jurisdiction of Circles is -

1.West Bengal - West Bengal, An dian
Nicobar and Sikkim

2 Maharastra- Maharashtra,  Goa ang
Puducherry.

3.Andhrapradesh- Andhra  Pradesh -
Yanam

Which one is/are correct-

(A) Only 1 (B) 1&2

@ (D) All of above

29

(
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;’oobé') Aw8), ©HS™E HOO

1. DR DorS- DY Do, wocArS Db
Vlelewty) .’oébo

2. VTR DITY, for 200k DB

3. wod gg%- e508 56% S0doiw adrro

& 300 TS DB HBLAVIS

B)1&2

(D) 2 ey aiw

(A) 1 S8

Post offices are divided into how many
classes?

(A) One (B) Two
@ (D) Four

29

S0 SUTjRADSVOR Iy dordouT (Classes)
BT ?
(A) 288

30

Read the following sentences.
1.The working hours of the post offices
are generally fixed by the Head of the
Circle.

2. Director-General may extend the
working hours of any post office up to
10:30 P.M.

Which are correct?

30

P

3

©

me
S0

sz D oo Fordeio E
e
FroR0 g AtV Z8g6 23S

806 30D
1. o2
(5]

0:30 P.M. 56 SP&hocstiodd
FAeITIe SAINTA)

(B) Boco g

Gomm >, Eom e GOa  @wimrs
31 | Which is/are correct? A 31 | 96 %0 eandd
. 1. 28 DB DEFES D 0Bed  JToS” &)
1.Mobile Post Offices intended to j
provide the facility ate, posting in the DD A’ DG TOIVLS soRgRDT
different areas ities at different D Baerdd Dewrr eodbdn day MBS
timings accor a fixed schedule o bir oo VP egsy & Lo
including i B85 .
2. Mobil offices remain functional on WESLLT Dowd ST SOgLArW
Sunda ostal Holidays. &3Tosed Eotraw
/ 2. Voord Srer STOPfUAIred OICAN OB
A) Only one B F “

(C) Both of above” (D) None of the abo B0 DOY BIAVOS’ DIBF .

(A) 288 drgdy (B) Bocd g

(C) B Bocw (m

32| Which holiday is observed as postal S 32 | 61800 50" D hod BN VFOW 20D T

holiday? , 0O,
(A) Raksha Bandhan ({BY Good Frida (A) da= 20655

(C) 5®
(C) Holi (D) Diwali ) (B oo~
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Which philatelic bureaux is authorised to
do transaction for overseas orders?

(m/ilatelicBureau, Bombay G.P-O-
1 O

(C) Hyderabad GPO
(D) Both Bombay and Delhi GPO

34

£\

Which are correct about franking

machine? _
1. Frank impression consist of value die

and licence die. i
2. A commission of 2-1/2 per cent IS
permitted on the value of franks used.

A (B) 2 is correct
(C) Both are correct (D) None of these

35

Cﬁ
:ég; ;ays

In the case registered letter for how many
days it may be detained in post offices if
addressee is not found.

(B) 1 month
(D) 5 days

34 |

33

(AY1 26 o
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2. A3 é‘oéb s, Dewdes* 2
BRBDLE.

1% TSAD TOND

2,20 Q000
(C) 2 Bocr %0 €90 ) 2D Dok Y
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Read the following sentence.

are first class mails.
2. Parcels, registered newspaper
second class mail.

3. All first-class mails are i%
transmission with in the India.&

Which are correct?

(A) 1&2
(C) Only 3

1. Letter cards, postcard, blind literature

&

VDTS DA BEEIPOCD Brer STT§0S

820  agrd) L) Bwen  Dwdpcv
oS

(B) 1

(D) 5 Beven

766 s e, 5‘.:23 s'é, Bo& DTG e DA 33
o 0).)?5') -

2. By, 820 Argd D6 w &¢Bab 3ed

3. o) PG 33 andy BB F0S” Tasw
:mgo SN loFo o i cmasuc:.)xn.

06 % N
(A) 1&2 (B) 2&
(C) 3 g (D) 2D eodyosowr

37

bstances can be
nder the conditions

sent by lette
mentioned4n

(C) Sub clause (7) of clause 134
(D) Sub clause (6) of clause 135

37

38

Postal article exchanged in foreign post

are  broadly divided into
categories?

() One
(C) Three (D) Four

—

38

5 0080 A 000D FETcD 3dargren TLd
f)‘."g o D0DBBND

(A) Deoed 133 AW & Do (7

(B) Qeo@S 133 ddwe), &2 JeodS (8)
(C) Desocssd 134 chog) € Jeodd (7)
(D) Qw0 135 cos), 6D Jeoddd (6)

I —
05 VRS oy 0508y 3y o2 E6O
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MEDICAMENT
S URGENTS

(A)

~

B

A

MEDICAMENT

(B)

A——i

S

j]E S URGENTS [,

Black symbols and
lettering

—1% Lightblue backgroung

Blue symbols and
letterine

Light orange

» Brownsymbols and

(©)

MEDICAMENT
S URGENTS

lottarine

Red background

—
MEDICAMENTS
URGENTS

e

Black symbols and
lettering

| Light green background

40

following manner

of country- pin code

name of addressee

In the method of addressing the add
should include following particulars i

=

(A) Name of addressee — flat N@.- e

(B) Flat No.- name of c% pin code-

39

ftems containing urgent medicine sha|
furnished on the side which bears the e

addressee’s address with labels-

Page 7 of 15

wdBA6  BRGAD  SBN Ry  SWDWwD
DHTAEEOD Y, DWW 8dnad) DV
O dendy oo AWrAodSD

W
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J— -
%LD MEDICAMENT
< L) 8 URGENTS

{, S

Black symbols and
lettering

(A)

Light blue background

e ], Bluesymbols and
e $ letterine
MEDICAMENT

(B) f{]E, sunozms——_"_' Light orange

Brown sy! Is and

—_— ]
—
MEDICAMENT
S URGENTS
background

Black symbols and
lettering

—
MEDICAMENTS
URGENTS

1

F, Light green background

>

DOTET D FOLRPYD POBI0T & 30d
D3Tos D HGAS® FaLITH

(A) DOTE® TP DE-DE Doeb-S3an -
DS EE

(B) 65 dowb -B3d0 - DS E&- ddrar
T DD

(C) 0& B&- B30 DO~ ¢5 dowb - AT
TP DK

(D OGmrar i Dt~ ¢S Doeb-bE E&-
[Rled)

(A) Only 1
(C)18&2

2. Maximum size of this should not
exceed 110X220 mm when folded

3. Minimum permissible size is 90X140
mm after folding.
Which are correct

41

306 TSR BESoc

1. B Doy SrotnArgaw o gl 6o
BoLEELD 6BFoDEID

2. 0ADIYE DB BOBree0 AdHBWIT 110x220
mMm £ QoSLoGE® GotSdT

3. DD Shord DY DOJT T SARAWIT
90x140mMm 1° 980D D0DLICIAD

DO DO oI
(A) 1 2oy & (B) 2 argd
C)r&?2 ((D)1,2&3>

——
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Read the following sentence and choosé

correct one.
(A) The length of foreign parce
exceed 2 meters.

(B) Minimum size of foreign parce

not less then 90X200 mm.

C) Ge@
foreign parcel is 20000 grams

(D) Cower imit of weight is 10 kgs except

for Taiwan country that is 5 Kg.

| should not

| should

q

43

Meaning of “Animaux vivants” is

(A) Animated creature
(B) A parcel for American countries .

ated letter post
(D) Living anim

xpand “IRC”

(A) lnternatlonal reply coupon
ered coupons

‘(D' lntegrated Resource Ce

(42

< 0% Fr0.e5 Gl
A &), Fordn (07

(437

page 8 of 15

1
°@ TTIOD SBD 20 AN TP Do ot

Eg; P05 0y g, Teord 2 DoP DoST e
05 FOyS dang), §93) oarrAD 90x200
mm & Do God

SD) 8BS &9 60y N BTeD 803 LMY
P0A 10 Sden, pard B33 @0 5 Eded

Animaux vivants” clog), egaw

(A) 9288E& 82
(B) 0020055 dwe S5 05
(C) AIBE T66 'S

( esearc Centres

45

Which perishable biological substances is
permitted to be exchanged?

(A) Biological weapons

(B) Saars cavid virus
C) Formalin

(D) Ebola virus

) Soroineren
(B) by EDE 260
a
(D T 06

46 | With respect to Air mail for theipu e of | 46
fixing surcharges and co charges
the countries and territosies are divided
into how many groups?
¢
(A
5
47 | Which ¢ not the member of | 47
APPU
(4 At

{2 Papua New Guinea (D) Bangladesh

48

DARPAN means

) Digital Advancement of Rural Po
foce for A New India

B) Digital Analogue Rural Postal A
Network "
(C) Device for Rural Payment and
Negotiation

(G

48

(D) Digital advancement of Rural India

|

q

PN

(A) &2 ©T)

Jonb oS L Rowodod, W6 Fhen Jwdakw
S0 wrQew Dgowoserds  STen 0
FErenddy Iy rRT DBReBER0

(B) 3
(C) 4 (D)5
APPU &° wajdgdn 9 333w

(A) wigbos>

(C) DR A7 KA (D) eorrds

DARPAN exdn®
20085 5 EraeS VPO D

o @0C.03"
(B) GO onerh arod RS ok ¢ )
(C) &R b Gr6eS DR 0l FRRHRS

(D) &2 TS5 20065 8D Ar oS Rocodr

| —
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49 | Expand ‘RICT 49 | “RICT" & Dgo0c0d
(A) Rural Infrastructure and
Comprehensive Tgchnolo (A) 666 2T V636 ol Sopir IS By

< echnols nformation and Communicati <(B/M;c? ':m)aé:q.s ok s:m-‘g:)?,a =Y
| technology
(C) Rural India Country Technology | (C) Gro6 modasr Sofy Oy 02
(D) Rural Information Community a
Terminal (D) eSS 23\GYaS 82075 B0, S

50 | Match the following and find correct one. [ 5g | 308 F°6R 2030 285 8D (ool
1. UPS- Power supply 1. UPS — 256 22
2 CAT 6- Network Cable 2. CAT 6- ¢ ;)51: de1e5
3. Mouse- Input deviqe 3. Mouse- @5 & Ad5
4. Printer- output device 4. Printer- T 265 &35
4AJ Only 1,384 (B) 3 &4

(C)1&4

51 |[fcost of 24 oranges is ¥ 72, then find out 24 —boxe Do T 72 e 20 ~rdoze Do

the cost of 120 oranges. 51 | Joch

-~ A)Z 180

(A 180 ) 172 (D) 500

(C) 172 D) 500

21 goats eat as much as 15 cows. How 21 208 DHOS DTS 308, 35 wHS
52 many goats eat as much as 35 cows? 52 | darder e Sotron?

(A) 38 ( (B) 49

(C)37 (D) 41 (D) #1

4 mat-weavers can weave 4 mats in O TrHen Soirddainad TP THUR

53 days. At the same rate, how many mat 4 Brod’ airddyd. ©d DI3HS IO
would be woven by 8 mat-weavers 2008 oW dar® Savord 8 Brod' )
in s?

- ?

RICIC (B)12 @ TP SAPE B 67
8 (D)14 (16 ) ?3512
8 D)14

&4 Evaluate:- 80 + (-8) - 18 ) & Fdood
80~+(-8)-18) 54 (A) 28 (B) 8

e ) -2 -8 1

- A person so e for Rs. 423 and 28 3§ 28 PO D dr. 423 0D LY 6 TS0 Y
incurred alos %. At what price would | 55 | Q*asirco. 8 w0 eerd) BR0u0s 638 SRPRV
it be sol to earn a profit of 8%7? 06 oD ) STW?

(A) Rs. (B) Rs. 500
e (A) gr.525 (B) ¢r.500
(C) Rs. D)Rs. 486 (C) &». 490 m)

56 If a person walks at 14 km/hr instead of a8 B8 10 3.20./60. Srdo e 14 8.20./fo.
10 km/hr, he would have walked 20 kM | 56 | 3dod® wah 20 8. . drde s A&
zjort.e. The actual distance travelled by BB, 088 Hariodd TS GGo Jod?

im is: -
L—
¢(A) 50 km (B) 56 km (A 0. (B) 56 3. .
(C) 70 km (D) 80 km - |(©)708.k. (D) 80 &. 2v.
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.
Identify the figure that completes the Patterr———
57 patterfrz,. . P 57 {booz:'; (Adorzr) 2y Sabedd 200G 28,00
E
77 %% /] 4 [
j 2 B w B
3 (4) 2
(X) (Mm@ (3) (X) N @ )
A1 (B)2 (C)37AD)4
.() (B) (©) ] A1 ®2 (€3 (D)
58 Identify the figure that completes the Pattern (3axr~) 0 Bobm08 mﬁ_ug)aa_d
pattern. 58 | bBowsod,
X 72 2 N | X 2 0 Y
(X) 1 @ : (X) 1) (2 ®
(A)1 ‘;,6)3 (D) 4 A1 (B 2K ( (D) 4
59 Identify the figure that completes the Pattern (% ;3‘5‘3@;535 200G 35,09
pattern. 59 | th0ocsods .
"
] B B K 00K G
x o @ © (4) x 1 @ @ @
(A) 1 4872@ (A)1 (B)2@(D)4
Identify the figure that comp Pattern (daur=r) Qg BoEAS ROVE €3I
60 pattern. 60 | Bocsocle.
[ E ) @ [ B
(X) 3 @ x M @ O
A >2@ (D) 4 w1 B2 ©3 O 4
/ . <
61 Identify the figure that completes the Pattern (d&0°=) BaDeR3 0BDE 8D
pattern. 61 (HGo30Cs.
N7 8L
1%
\) N % ’5'/
1 (3) (4)
(1) (3) (4)

(2)

( .
68)/2 ©3 N 4

_

(x) (1 @
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[ 3o DTS ABHST FErdgs SO ©9Doerd)

62 | esembles the mirror image of the given 62 | (Mirror Image) & Bocsols
combination.
EFFECTIVE
EFFECTIVE
(1) IVITO333 (2) ngCEFFE (1) 3vITO3343 (2) EVITCEFFE
(3) 373330TIV3 (4) 3VITO3F33 (3) 33730TIV3 (4) 3VITO3F33
/@ (B) 2 (C)3 (D) 4 (A1) (B) 2 ()3 (D) 4
N

Salect the alternative which represents
63 |three out of the five alternative figures
which when fitted into each other woulqg
form a complete square.

> v <

(1 2 ®) W (s

63

306 RIES YOgAr) ore S wondodsS
Ay w8 oS 68D $dLD ©d w8 Yo
SBI6RAD DY YE§OR) aIr) Bocsols

> v I <Z.D

(1) (2) 3) (s)

(A)1.45 (A) 1,45

. (9) L — ’4_ (C)1,23 (D)2.34 B
64 Six friends are sitting in a circle and are facing BdH®d  Dya VoS OaneS  SogrdS

the centre of the circle. Deepa is between | g4 | exdawpsw N . o5 Hododny Dogd

Prakash and Pankaj. Priti is between Mukesh 256 & & &5 2003 ©OE © G A

and Lalit. Prakash and Mukesh are opposite R e ' & 5

to each other. &) a ::) odn AVIQ e TSI

Who is sitting right to Prakash? L OTR O DA YR By TD

?

(A) Mukesh Deepa S03a (B) &5

(C) Pankaj D) Lalit _{ ) D0&E ) oS

F HAI, IAH, FAG. GAF, HAI, IAH,
65 JAK *) (B)HAL 65 (TA)JA (B) HAL

(D) JAI (D) JAI
66 Find the number of squares? N SSoOFren S0D?
66
SRR
+ .
- N
A) 10 18 D) 19
(A (€) 15 (D) (w10~ B)18 (C) 15 (D) 19

g7 | How manyistraight lines in the figure? Dgo &° ) POV Bwed SVD?

NN

(A)16  (B)19 @(D) 18

~—

67

NN

(A) 16 (3)19/7/(@17 (D) 18
———
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| QuestionFigures

MNENE

AnswerFigures
_'_ |
< S) 1
LA /\1&./@ |
(A)

Find the number of triangles in the given figure.

Page 12 of 15

M.

©) (D)

N—

69 6g | S INWED 5,0 §'D e I
£
AVAS /
LN/
AN @
(AYTE & OIS (A) 16 @ ©) OD 15
70 Which is the correct image from the given 208 A3 0 oan odswe 287
: ]
four images. 70 ¢
R &
1
%o &
(A) 1 m D) 4 ( (B)2 @ (D) 4
74 Which is the coerrom the given RILED T oTorrud 28 sand 23dcwoe
four images. a?
N4tQj3
Wutiola & nviole N41Q)3
s Hecols e vmol (1) utiols () Uriole
(3) utiol3 (4) ut10[ €
(A), 2 *)4 (o) ®2 ©3 o
79 ich is the correct ag m the given 308 23AD T 2IDewrud’ B v RADowe
four i |mages 72 | va?
==
- =
1 2 -3 4
(A) )2 @ (D) 4 A1 (B)2 00 (D) 4
73 | Which number is in opposite plane of 37 3 9 2§988 dvod’ (0 9 2007
73 a
L (A)2 @ ©)1 (D) None (A)2 (ﬁ; 4 (C) 1 (D) None
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74 Tiasspaent Shast 74 Transparent Sheet
=] 5
A n Foures Response Figures
TR || EEe
B »__M A (B) C D
:‘ Count the-pufiber of blocks in the given 306 RI(WEI B0 ' oo Vo TS ool
h figure 75
l /
é’ 7
e B ©)1 D) 12
% Find the number of triangles in the given
figure. 76
!
A3 ®23) ©)9 €09 20 ©9 (D) 20
77 | “Grey revotation” in agriculture is related | 77 080 G DPSo” T
to
(A) Milk production (B) Femllzer production ) Jo e (((B) dp &3
(C) Wool production (D) ) &) &3\ (D) 805.)50 &3N3
78 | Read the following sentences $0d TSmO SBSoc
1. Godavari river flows from east to weast (A) Rerad 06 S0ty ol DAIrIS PIIPRd
2. Krishna river flows from east t (B) S)zr 38 By Aod BIATIS PITPRO
3. Tapti river flows from west tolea (C) 82 56 DESS Aol BFrEND VILROS
4. Narmada river flows fro to east (D) B BB DHEG B0l AFCLND DITES
| Which are correct? 96 26 onSA -
| Eé; ?21551& . 2 (A) 1 3rgdo (B)2 &4
| - (C)1.2,38&4 5D
79 | Who was the p 79 |wr6d o 082969 5T IDD?
ion Ag QUA) . odog 0
(B) 00&8 = O T\
(C) g6 weses
(D) &. D. 6. 9085 6
(D) Dr B R Ambedkar =
80 | Fundamental rights were borrowed from | 80 | O &% ovarfofio oo A0S REUEY
%ﬂ of — SR0E'dco 20600
QA usa * (B) Ireland A usad (B) owol
(C) Australia (D) Russia | [ (©) eibase DY 8
81 GLONASS was developed b 81 m@ﬁ;b 3D
(A) USA B) RUSSIA (A) UsA (B) G2y
| (C) FRANCE (D)Unighted Kindgdom | (C) &5y BE 20b &5
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82 mﬁno 00O

(82 | Which one is correct?
A) Chinook- multiro r jet | (A) D= aobetes 29805 25
( inaka- multi barrel rocket aunc ( (B) Barer- 258 pmcme
05 U385 erocd
—fighter submarine (C) 2of'on ™
(D) Akula- American submarine (D) eses .
83 V- 00ED e WD
83 | Elysee palace is situated in Elysee oassse 5 B0 2o
(A) Germany (B) India (A) 2c) 5 8) =
(C) Russia France ] (C) 03.5 ?(D) >
84 | Which is the following isnot a cash crop? |84 | 6808 555755 >am .:oe.f?-m
(A) Rubber (B) Woo (A) N @
(C) Tobacco (D) Sugarcane (C) rrg> (D) 565
85 | Arrange the following cities from north to 85 | 806 ooy G860 Mok GALPIS VDol
south -
(A) Eluru - Vijayawada — Narasaraopeta-
Guntur
(B) Vijayawada- Guntur- Eluru-
Narasaraopet
< ) Eluru — Vijayawada -G
(D) Guntur- Narasaraopeta- Eluru-
Vijayawada
86 | Laughing gas is.
(A) Nitric oxide oxide W/ S (B) 20160 &3 &
(C) Nitric acid D) NIthUS oxide nE (D) 205 3G
87 | Simplify this oS0
1800+10{(12-6) +(24-12)} 00+10{(12-6) +(24-12)}
(A 10 (B) 3240 10 (B) 3240
420 (D) 1010 (C) 3420 (D) 1010
88 | What is 15 percent of 34 34 & 15 32050 Jod
(AY5.10 (B) 4.10 <@ (8)4.10
(C) 3.10 (D) 2.10 (C)3.10 (D) 2.10
89 | Evaluate 28% of 450 + f 280 89 | 450 & 28% + 280 & 45 % Dewd dod
(A) 232 42 o A) 232 (B) 242
C) 2 ot q 52 (D) 262
50 | Wwnatwill be the fraction of 20% 20% c3og), D) A
(A) 1/4 90 | (A) 1/4
(C) 1/10 D) None of above (C) 1710 B3 Dk 5
91 | Thera cost price and selling price is By o0 200080 O DU QAg), ARG +:3
4:5. The profit percent is:- 91 | oS ergs 70 od?
(A) 10% (B) 20% A) 10% (Bf 20%
b C_:) 25020 D (D)30% ( C) 25% D)30% . s
g2 | If selling price of 40 articles is equal to = DY VI O 20 :’9’@:’ )
cost price of 50 articles, the loss or gain | 92 oarapdd, 9y 88 o8 Tdo ad
percent is A) 25% loss (B) 20% loss
% (B) 20% loss ((c) 25% gai (D)20% gain
(1 (C) 25% gain (D)20% gain L,.D'/



93

94

A sum of money at simple interest amounts
to Rs. 2240 in 2 years and to Rs. 2600 in 5
years. What is the principal amount?

A)1000 (B)1500
(C)2000

(D)2500

N\

93

What will the ratio of simple interest earned

_ (JUL)20 —
6 P00 00D 008 9 WodO\TroD ad ¢ |
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Eod Towy Sardy d¢ & cwipbD
2 PoDONTOD dr. 2240 26ak 5 DoSB\TOD
dr. 2600 €035 e T, Jod?

00 §8)1500
D)2500

by certain amount at the same rate of | 94 |dewd Sod Tdw) orqor Sciyy Frdrdy ¢ Diyd

interest for 6 years and that for 9 years. Jocd? - )
(A)1:2 & A2 B
(€)2:2 C o2z (C)2:2 2

g5 | The average of fifty numbers is 28. If two oird oy e k28, eod’ Tocd
n_umbers, namely 25 and 35 are|95 |dopgen o™ 25 b0t 35 & VDL WAdD
dlscardeq. the average of the remaining Ropg AE), ek BATE dotd?
numbers is nearly, A) 26.27 =
(&)29.21 a7 29
(C) 27.29 (D)29.72

o6 | The average of three numbers is 77. The Qe oo AL, R oS A
first number is twice the second and the | 96 | ®owy Bocd Rowf So)RBReD D0 Tottd
second number is twice the third. Find the Doy JUrED ’°°”§@3§°‘D oS 266
first number. Doy & SR N
(A) 33 (B) 66 1A) 33 (B) 66
(C) 77 . gﬁ@ (C) 77 13

g7 |Adoesa work in 10 days and B does the w8 DA A o 15 Berod’®
same work in 15 days. In how many days | 97 2D 2GW % ) Bered’ dawdod
they together will do the same waork ? aren
(C) 7 days (D)8 days

og | Ais twice as good as workman as B A Gwg), DABIID B £77) 0oy dainy agd

€02 2,8 DI 18 Barod® 3D duce B a9 a ©

together they finish a piece of work in 1
days. In how many days will B al I

L 27 da)

(B) 54 d
(C) 56 days

22 Ay Bereds® Lrodabivd
q gA) 27 Baed (B)/54 Beren

(C) 56 Beren (D) 68 &erens

99

(D) 68 days
Rohit covers one-fou f the total

distance at 20 km/ ope-fourth at 10

km/h and rest journey at 80 km/h.
Find Rohit's av peed for the whole

distance?

(B) 25.15 km/hr
(D)40 km/hr

99

Bird 02 poirnod Y% S Sodd  AreeR)
20 3.50./6%. '"’35 &, % o dodv arody 10
3.20./60. D& & 2ondd drowdy 80 3.%. /6.
mE & Qo 3dd wdd Y Dalros’ Vom0
(B) 25.15 3.2./do.

Dfo_ Doeh?
(C) 50 - 7fo. (D) 40 8.20./do.

/\

100

P. Q and R are in a cycle race of 4500
meters. P cycles twice as fast as Q. R
cycles 1/3rd as fast as Q. R completes
the race in 45 minutes, Then where was
Q from the finishing line when P finished
the race?

(A) 300 m
250 m

(B) 1500 m
(D) 3000 m

100

P, Q 0w R e 4500 obg PSS dwe
FTyD. P pioh Q &) 3oy Srfo BN
Gotrco. R pdoh Q & 0% 1/3 & Bodd Srfo $80
Gotwod. R 23S dw D 45 LY RENETY
Qrodwen. P S & g dhedy0s Q DI
95 € Jod drdo &° Gotrc?

(A) 300 . (B) 1500 .
(C) 2250 5.

gaj 3000 .




